aample of rock contains 40 g of 5
40: 5 Jioisotope- How much of the r
il remain after three half-lives?
A
E able 7. age
Refer tO .thc Ta 6,_011 p.\gg 307, to find
. informauon on the radioactive decay of

ndioisotopc

n umnium—Z. : :

s) (a) What is the approximate maximum age of

ns rock that can be dated by uranium-235
analysis?

p) What is the ratio of uranium-235 to
Jead-207 present in a sample after one
half-life has gone by?

(c) How many years docs it take for 32 g of
aranium-235 to decay into 8 g?

3 0 provide the nuclear symbol for the parent
aucleus for each.

a = 207At (alpha decay)
(b

(o) #Mg (gamma decay)
) 228Ra (alpha decay)
e) > 8Kr (beta decay)

- 1710s (alpha decay)

P

)
)___ > %5{Pu (beta decay)

45,

Complete the following nuclear equations.

99
(a) 3Tc > e

(b) 2$ZAm* = 247Am + ‘ \
(c) ‘gg’H() - e 30‘

(d) £Br > 2Kr +

Thinking Critically

46. How is the number of electrons in the
valence shell of a non-metal atom different

from the number of electrons in the valence
shell of a metal atom?

47. Why is each of the following chemical
formulas impossible? Give reasons for your
answers.

(a) KF,
(b) CaBr;
(c) LiSO,

48. When magnesium burns in air, the solid
product formed has a greater mass than the ‘{
original magnesium. When wood burns in \|
air, the solid product formed has less mass 1
than the original wood. Why is the mass of
the solid product greater in one reaction but
less in the other reaction? ‘

49. The following diagrams is a model of what il
happens in a crystal of salt when hit with a \
hammer. Use the diagrams to explain why all ||
crystals of salt have flat faces. Remember that ||
the ions being represented are very, very tiny, “.
and the hammer is very, very large in |}

comparison. ;
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